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NAD-ERRGEEEE (NAD-MDH) 57 & iR+

DIIEE 50 B/48 #

F OB ERXWERTSSE 2-3 MREIE RER K RREARMTNE

MEBN :

MDH (EC 1.1.137) [ ZAFET . Y. AE R 240, Zokifk - MDH /& TCA G ¥ 1) 5C

B —, ARG R W 48R MR, M MDH AL S 8E Z R S R . B £ A 3 v

WFEY,  ERZAEERERE. ik, MDH (E40M 2 A FIE S P s EE M A, ARk
MREEARE,  WRR-RLERFRARG. WEEERBAPUR S . AR A R 4R M, MDH 408

NAD-{&#i(¥) MDH #1 NADP-&#i/*) MDH, 405 Fil# R & H NAD-MDH, fEHE %404, NAD-MDH 4¢

A T 40 R R 2 A

MRE FRIE :
NAD-MDH 4t NADH i Jf B 2 B2 A= S SRR, S8 340nm Ab e i ™ F4

mEEHMENRR:
A GBI TS 1 mL A S IR K .

WIRILA R FAECH -

R PR 60 mLx1 i, £ 4°CIRATF;

WA= Witk 50 mLx1 3, 7E 4°CLRAT

WA= X2 32, 20°CHRAE: IR 300ul 280K, FEMEMAH: ARSI 3 5-20°C {7
17, bR Gk

WA B7Ix2 3, -20°CHRAE; IRFHRTAIN 300ul 808K, FEEMAE s FAS S B 70 2 5 -20 C i
17, bR E Rk

AN ERER:
Lo 05 4HARERA SRR o ) il 6 o

AP EEE IR SE A B B I B B0 N, B e e B R IR B R (104D ik
Fl—FL (mL) 24 1000~5000: 1KLL G 2000 J5 40T BRANM NN TmL 35750, H P BB R 41 7
M (UK, THE 20%TK 200W, 7 3s, [AIFE 10s, FE 30 ¥X); 8000g 4°C &> 10min, H{ LiE, Bk
L’iiJ”J

A ISR E (g): WA (mL)AN 1: 5~10 FIELE] CELFRENZ) 0.1g 202, A 1mL i

?fu~>, HEATUKIB 213 . 8000g 4°CES .0 10min, HU i, Bok EA.
2. ME CRO FEfh: BEHEATI.

ME SR
1. e fidk 30min A E, TR KE 340nm, ZRIE/KIHZE.
2. BRF A 37C GRS 825°C (R KB 10min PL L.
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3. HRMER:
WA (Ul e AL
FEA 20
1797 - 760
WA= 10
77 Y 10

B ERRFILF I | mL A3 mAr, JRA)ESLRILE 340 nm K N e FAHEWROLE A1 FXR 1min
JEHIOERE A2, THE AA=A1-A2,

R #ALA2 KT 0.5, TFEA RIS,  A1-A2 /NF 0.5, WlgmiG il % . HE AR
LI SR B £ B

NAD-MDH BRI

1. 1% (%) NAD-MDH & /1 it 5

BN S BTG G 58S FE 1 nmol [¥) NADH & SCA— /MG /1 547

NAD-MDH (nmol/min/mL) =[AAXV &+ (gxd) x109]+V FE+T=6430xAA

2. L. HE AN+ NAD-MDH & /7 {75

(D) $EREARE AR5

BRI E S B mg ZHEVER (IR B AE 1 nmol [ NADH & SCN— MBS /1 407

NAD-MDH (nmol/min/mg prot) =[AAxV &+ (exd) x10°]+(V ££xCpr) +T=6430xAA+Cpr

(2) FuhEAEEE T

PN E X B g HRESBEAE 1 nmol ] NADH & SUN— MBS 715807

NAD-MDH (nmol/min/g #£HE ) =[AAXV &+ (exd) x10%+ (Wx V FE+V FEE) +T =6430xAA+W

(3) H24H 1 B A0 A 2 P T

BRI E S B 1 AN B B A A 4 £ FE 1 nmol 19 NADH 5& SN — AN /7 54

NAD-MDH (nmol/min/10% cell) =[AAXV X+ (exd) x10%]+ (2000xV Ff+V FEE) +T=3.215xAA

V RE: PR REAR, 8x104L; &: NADH BE/RIEHZE, 6.22x10° L/ mol /fom; d: HEMER,
lem; VFE: IAFEARMEFT, 0.02mL; VEEE: TIANRBUGEAR, 1mL; T: KMEE, 1ming W: FEAR
R, g Cpr: BEAZEARIKE, mg/mL; 2000: 24040 E =30 2000 J5.



